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1. Which one of the following stalements
about the Attorney-General of India is
MOT correct ?

(a) He shall have the right to speak in
the Houses of Parliament

(k) He shall have a nght of audience
in all Courts in the territory of
Indiz in the performance of his
official dutics

(¢) He must have the same qualifica-
tions as are required to be a Judge
of the Supreme Court

(d) He is a whole-time counsel for the
Government

. Consider the following statements
relating to short notice questions asked
in the Legislature ;

1. These relate to matters of urgent

public importance and can be
asked for oral answer at 3 notice
less than 10 da}ra._

2. Shorl notice questions can be
admissible if the Minister con-
cerned agrees to answer to il

3. Short nofice guestions are asked
during question hour

Which of the statements given abowve
are correct 7

(a) 1,2 and 3

(b} 1 and 2 only
(c) 2and 3 only
{d) 1 and 3 only

3. Which one. of the following is NOT

true of the 10th schedule of the
Constitution ol TIndia pertaining to
disqualification of members of the
Parliament and State legislatures ?

{2) The schedule lays down that
elected members may  be
dizqualificd on the grounds of
defection

(b) Disqualification on ground of
defection’ does not apply in cases
of merger with another political
party

(e} Cases of dispute are decided by
the speaker or Chairman of the
House coneerned

{d) The Suprome Court of India is the
final arbiter in cases which remain
unresclved

4. Which of the following pairs of list

and contents is/are correctly matched 7

1. State list Public health
and sanitation

2, Union list Citizenship,
naturalisation
and aliens

3. Concurrent. : Legal, medical

list and other

proofessions

Select the corroct answer using the
code given below :

{a) 1 only

(b) 1, 2 amd 3
{c) 2 and 3 only
(d) 3 only
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5, Which one of the following statements 8. The increase in length of stems and
is comect 7 roots in plants 18 doe o

(a) Bacteria contain cytoplasm bul ). et merigied
¥iruses do nol (b) intercalary meristem
{b) Bacteria contain mitochondna but {c} apical meristem
viruses do not
(d) secondary growth
(¢} Viruses contain mitochondria but
bacteria do not 9. In plant cells, the turgidity and ngdity
is provided by
(d) Viruses have a cell membrane but
bacteria do not (a) ribosomes

{b) mitochondria
6. Which one of the following wall

happen if the medium surrounding the (c} golgi apparatus
fﬁ e higher concentration than the (d) vacuoles full of cell sap
* (&) The call will gain water 10. Pollens are produced in
; Corolla
(b) The cell will die (a)
(b) Style
{c) There will be no change
(c) Stigma
{d) The cell will lose water (d) Anther
7. Rough endoplasmic reticulum (RER) 11. According to the Law of Diminishing
looks rough under the mcroscope Returns, in a production function when
because of the attachment of which more and more units of the variable
cne of following cell organclles to its factor are used, holding the quantities
surface 7 of a fixed factor constant, & point is
reached beyond which
(a) Centnoles
{a) the marginal revenue will diminish
(b) Plastids (b) the average revenue will diminish
(g) Lysosomes (¢} the marginal product will diminish
{d) Ribosomes {d) the marginal product will increase
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12. Which one of the following is NOT

comeact 7

{(a) The Average Revenuc amnd
Marginal Revenue curves of a
perfectly competitive firm are
perfectly elastic

(b} The Marginal Revenue curve of
the monopoly firm is above its
Average Revenue curve

{c) In the long-ron, a competitive firm
earns only normal profits

{d) In cquilibrium, the Marginal Cost
Curve of the monopoly firm may
be rising, falling or constant

13. Zero price clasticity of demand means

{(a) whatever the change in price,
there is absolutely no change in
demnand

(b) for a small change in price, there
is a small change in demand

{¢) for a small change in price, there
is a large change in demand

{d) for a large change in price, thero is
& small change in demand

14, Suppose that the price of a commodity

increases from T9) to T 110 and
the demand curve shows that the
corresponding reduction in  quantity
demanded is from 240 units to 160
units. Then, the cosfhicient of the poce
clasticity of demand will be

(@) 1-0
®) 24
(€} 05
(d) 2-0

15.

What iz the real interest rale on a
Credit Card loan bearing 24% interest
per year, if the rate of inflation is
10% ?

(2} 240%
(b} 34%
(c) 14%
(d) 4%

16. Which one of the following is known

17.

as Wood Spirit ?

{3) Methanol

{b) Ethanol

{c} Formaldchyde

(d) Acctaldehyde

Which one of the following will NOT
show Tyndall effect ?

(a) Chalk powder freshly mixed with
water

{b) Lime juice
{c) Few drops of milk mixed with
water

{d) Starch solution

18 Which of the following are the most

favourable conditions for hiquefying a
gas Y

{a} Low pressure and high tempera-
[ura

{b) Low pressure and low temperature

(¢} High pressure and high tempera-
fure

(d) High pressure and low tlempera-
tore
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19. Aluminium, Iron, Copper and Zinc are

extracted from

(2) Bauxite, Magnetite, Malachite and
Calamine respectively

(b} Magnetite, Bauxite, Malachite and
Calamine respectively

{c} Calamine, Malachite, Magnetite
and Bauxite respectively

{d} Malachite, Magnetite, Bauxite and
Calamine respectively

20. Which one of the following does NOT

contain COOH group ?
{a) Citric acid

(b) Lactic acid

{c) Tartaric acid

{d) Ascorbic acid

21. The Soda-acid fire cxtinguisher con-

tains
(a) sulphuric acid and solution of
sodium hydrogencarbonate

{b) nitric acid and solution of sodium
hydrogencarbonate

{c) sulphuric acid and solution of
sodiom carbonate

(d) sulphuric acid and solution of
potassinm carbonale

22, Who among the following was NOT

associated with the Kakori Conspiracy
Casge ?

{2) Ramprasad Bismil
{(b) Rajendra Lahiri
{c) Ashfagulla Khan
(d) Surya Sen

23. Which of the following statements

ghout Bhagat Singh 15/are NOT true ¥

1. Bhagat Singh was influenced by
socialist ideas

2. He was a member of the
Hindustan Socialist Republican
Association

3. Bhagat Singh threw a bomb in the
Central Legislative Assembly in
1929 with the objective to kill
as many pcople as possible

Select the correct answer using the
code given below |

(a) 1 and 3
(b) 2 and 3
{c) 2 only
(@) 3 only

. Which of the following statements

about Ishwarchandra Vidyasugar 15/ are
NOT correct 7
1. Vidyasagar’s writings significantly
helped to develop the Bengali
language
2. He received the title *Vidyasagar’
from Presidency College, Kolkata
3. He was enthusiastic about the
spread of women’s education
4, Vidyasagar  defended widow
marriage without being convinced
gbout scriptural support
Sclect the correct answer using the
code given below :
{a) 2and 4
{b) 1 and 2
(c) 4 only
d) 3
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Which among the following statements
about the Jallianwala bagh massacre
is/are correct 7

|. In Jallianwala bagh troops opened
fire upon an unarmed crowd

2. The troops were under the
command of General Dyer

3. The troops did not issue any
warning to the people before
opening fire

Select the correct answer using the
code given below :

(a) 1 only
(B) 1 and 2 only
{c) 1,2 and 3

(d) 2 and 3 only

The Voter Verifiable Paper Audit Trail
(VVPAT) system was used for the first
time by the Election Commission of
Tndia in '

(a) Morth Parayvar Assembly Con-
stituency, Kerala

{b) Noksen Assembly Constituency,
Nagaland

{c) Mapusa Assembly Constituency,
Groa

{d) Nambol Assembly Constituency,
Mamipur

11

27. Name the theme of the annual report

published by the United WNations
Population Fund (UNFPA) on State ol
World Population — 2019,

{a) Worlds gpart : Reproductive health
and rights in an age of inequahly

{b} The power of choice : Reproduc-
tive rights and the demographic
transition

{¢) Unfinished business — the pursuit
of rights and choices for all

{d) How our future depends on a girl
at this decisive age

28 Who among the following was

awarded Saraswati Samman for the
vear 20187

{a) K Siva Reddy
(b) Mahabaleshwar Sail
{c) Padma Sachdev

(d) Sitanshu Yashaschandra

29, ‘Kandhamal Haldi’, which received Gl

tag recently, is a variety of furmerc
indigenous to

(2} North Bengal

(b) Southern Odisha
(¢} Sangli, Maharashira
(d) Alleppey, Kerala
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3. Zayed Medal is the top civihian honour
of"

{a) Pakistan
(b} Saudi Arabia
{c) United Arab Emirates

(d) Qatar

31. When a longitudinal wave moves
through a certain medium, the quantity
which i transmitted through the
medium is
(a) material of the medium only
(b) energy only

(c) both material of the medium and
SHErgY

{d) none of the above

32. The number of nentrons inside the
nueleus of the clement Uranium-235 is

(a) 235
(b) 92
{c) 143

(d). 51

33. A snowhoard pulled up by a tow rope
travels at the rate of 5 m's up a
mountain, If 3000 watt of power is
used, what force was applied to it ?

13

{a) S0N
(b} 100 N
(c) OO0 M

(d) 15000 N

. Which one of the following is NOT

true for an eleciromagnetic wave ?

{2) Electromagnetic wave lransports
energy and momentum

(b) Electromapgnetic wave can be
polarized and reflected

{c) Electromagnetic wave is longi-
tudinal

{d) Electromagnetic wave propaga-
tion iz described by the varying
eleciric and magnetic fields

. Which cne of the following is NOT an

electromagnetic wave ?
{a) Light wave
(b} Radio wave
(c) Sound wave

{(d) Micro wave

36 Ehilianes o g 5 00 1o

(a) interference of light
(h) diffraction of light
{e) pelarization of light

{d) total internal reflection of light

A — GHY-F-BST
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37,

Which of the following condilions
isfare essential for wheat -:tlli_ivatiun‘?

1. Optimumn  temperature  durmg
growing period is around 30°C

2. A frost-free period of about
100 days

3. Light clay or heavy loam saoil

Select the correct answer using the
code given below :

(a) 1,2 and 3
(b) 1 and 2 only
{¢) 2 and 3 only

{d) 1 only

38. Gwadar port is located m

39,

(a) Pakistan
{b) Iran
(c) India

{d) Sri Lanka

North-west part of the Indian peninsula
was converted into a preat cenire of
vulcanicity in

(a) the end of Cretaceous period

(b} the mid of Cretaceous period

{c) the start of Cretaceous period

{d) the whole of Creaceous period

15

40, What is the natural number n for which
3% 4+ 312 + 319 4 37 i5 a perfect cube of
an integer ?

(a) 10
(b) 11
{c) 13

(d) 14

41. If a circle and a square have the same

penmeter, then
{a) their areas are equal

(b) the area of the circle is greater
than the area of the square

{c) the area of the square is greater
than the area of circle

(d) the area of the circle i5 two limes
tha arca of the square

.Let 2+ =1;
w? + v =1 and
au +yv =1, then
L2 +ut=1
2. P at=1
3. xytuv=0
Which of the above is/are true ?
(2) 3 only
(b) 1 and 2 only
{¢) 1,2 and3

(d) 2 and 3 only
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43.

If the first day of the year (other than
the leap year) was Sunday, then which
was the last day of thal year ?

(a) Monday
(b) Sunday
{c) Saturday
{d) Nonc of these

44, A walks 10 metrés in. front and 10

45.

4,

metres to the right. Then every time
wurning to his left he walks 5, 15 and
15 metres respectively. How far is he
now from his starting point ?

{a) 55 metres

(h) 23 metres

(c) 5 metres

{d) None of these

Which of the following is NOT

provided for under the Directive
Principles of State Policy ?

(a) Right to work, to education and 1o

public assistance in certain cascs

(b) Uniform Civil Code for the eiti-
Zens
{c) Separation of Judiciary from

cxcoulive

Participation of workers n the
management of local-self govern-
ment

@

According to which one of the
following plans/reports, the decision
wilh regard to the partition of Punjab
and Bengal was to be laken on the
basiz of voting of the Members of the
respective Legislative Assemblies ?

17

48.

(a) Nehru report

{b) Cripps mission plan
(c) ; Beveridge report
{d) Mountbatten plan

. Which of the following statements

about Max Weber’s ideal theory of
Bureaucracy is/are comect 7

1. . refers to the dominant class
character.

2. Bureaucracy is associated with
structural and behavioral charac-
teristics.

Select the correct answer using the
code given below :

{a) 1 only

() 2 only
(¢) Both 1 and 2

{d) Meither 1 nor 2

Which one of the following statements
regarding the Directive Principles of
State Policy is NOT correct 7

(a) State shall follow the Directive:
Principles of State Policy both
in the matter of administration
as well as in the making of laws

The Directive Principles of State
Policy embody the object of
the Stale under the republican
Constitution

The Directive Principles of Slate
Policy have precedence over the
Fundamental Rights in case of
gonflict between the two

The Directive Principles of State
Policy are not enforccable in the
Courts

(b}

()

(d)
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52. Tl wrgw % wie =y 6 w5
T fér & wefe 7

(@) PETEIEE L]
(b) TS WA

{c) EWHE TATHEAA
(d) Ffeemrfear

53. Y wWei # swgew Sl s

S wew R A § 7
(a) s

(b) T T

(c) FAqw=H
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T TE-Frgm v & we d s
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(a) He
(b) Si
c) T
{d) Sn
55. 9 gy & fow Fmfefaa § @ e
o o @ #2
(2} Mg(HCO),
(b) Na;PO,
(c) NagPeO5
(d) Nu,HPO,



49, Which of the following are the
defining features of liberal demo-
cracy ?

1. Constitutional governmenl based
on formal, usually legal, rules

2, Guarantees of civil hberties and
individual nights

3. It invests political authority with
potentially unlimited power

Select the correet answer using the
code given below :

{a) 1 and 3 only
(b) 1 and 2 only
(c) 2 and 3 only
{d) 1,2and 3
50. Phreatophytes are the plants adapted
fo grow in
(a) moist shaded places
{b) rocky environments
(¢} arid environments

(d) active volcanic lava

51, Which of the following organisms
belongs to Coelenterata (Cnidaria) 7

{a) Plaparia and liverfluke
{b) Sea urchin and sea cucumber
{c) Hydra and sea anemonc

{d) Euplectella and sycon

19

52. Bending of shoot of a plant towards
Light can be referred to as

(2) photonasty
{b) positive phototropism
(e} negative phototropism

{(d) photoperiodism

53. Epidermal cells of plant roots increase
their absorption surface by having

(a) Scales
(b) Root hairs
{c)} Endodermis

{d) Stomata

54, Quartz is extensively used as a piezo-
electric material. It contains

{a) Hg
{b) Si
{c) Ti

(d) 5n

55, Which one of the following is used for
water softening 7

(a) Mg(HCO),
(b) NasPO,
() MNagPglhy
(d) Na,HPO,
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57.

58.

Na:X #, @ o urgifms wam &
T T S 7

(a) AIX

{b) AlX;

(c) ALX;

(d) AlsX,

e T w&‘i (2) =7t = arderEe

#, =ft Himim Fwim weft w39 090 2,
A A A (A o EeT 7

(a) 10:00
(b) 1-00
(c) 0-90

(d) 010

e Hwea figm (F @ fagm) &
AT, S % fowg e 3w = 6
TET T R

(a) EATHS

(b) FOEAE

(c) 9

(d) T
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56.

57.

If formula of sodium salt of an anion
X is Na,X, then the formula of its
aluminium sall would be

{a) AIX
(b) AlX;
(€ AlLX,

(d) ALX;

In a closed cconomy with no taxes,
il the marginal propensity to consume
is always 0-20, then the value of the
multiplier will be

(a) 10-00
®) 100
(c) 090

(dy 0-10

58. According to simple Keynesian theory,

the slope of the aggregate consumption
curve against income is

(a) Positive
(b) MNegative
(c) ZFemo

(d} Infinity

21

. Which one of the following is an

example of a price ceiling 7
(a) Fares charged by Airlines in India
{b) Price pnnted on biscuit packets

{c]) Minimum supporl price [or cane
ErOWErs

(d) Minimum wapes fixed by state
Governments

#0. Which one of the following statemenis

is true with regard to an economy
which is on its production possibility
frontier ?

(a) The economy has to sacrifice
some production of one commo-
dity in order to increase the
production of another commodity

(b) There is no limit or constraint for
the economy in the production of
goods and services

{¢) The economy can produce more
of one commodity up to a point
without reducing the production
of any other commodity

(d) lts production possibility frontier
is an upward sloping curve

61. Who coined the concept of “Paradox

of Thaft” ?

(a) Adam Smith

(b) Alfred Marshall

{c) John Maynard Kcynes
{d) Paugl A. Samuelson
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62. Which one of the following Forest

Acts divided forests of India into
reserved, protected and village forests 7

(a) Foresl Acl 864
{b) Forest Act 1865
{c) Forest Act 1866
(d) Forest Act 1878

. Consider the following events :

1. Foundation of the Ramakrishna
Mission

2. Foundation of the Arya Samaj

3, Foundation of the Brahmo Samaj

4, Foundation of the Paramhans
Mandali

Which one of the following is the
correct chronelogical order of the
above 7

(@) 1,2 3.4
() 2,3, 4,1
(c) 3,4, 1,2
(d) 3,42, 1
. Which of the following arc true in

the context of Swadeshi movement in
1905 7

I. Miassive demonsations wore held
in Bengal
2. Hartal was observed in Calcutta

3. The movement was initiated by
the moderates, but was taken over
by the revolutionary nationalists at
a later stage

23

Select the correcl answer using the
code piven below ©

(2) 1,2 and 3
(t) 1 and 2 only
{c} 2 and 3 only

(d) 1 and 3 only

65, What is Sant bhasha ?

(a) Language of the nirguna mystics
(b} Language of the nlatbansi mystics
{¢) Language of the mirakar mystics

{d) Lanpuage of the saguna mystics

66. If the equatorial plane of earth is NOT

inclined to its orhit, then

(a) duration of the year would be
longer

{b) summer would be warmer

{c) there would be no change of
SEASONS

(d) winter would be longer

67. Which one of the following 18 NOT a

luminous ohject 7
(a} Sun

(b} Electric lamp
() Candle

{d) Moon

A — GHY-F-BST



68,

69.

T,

1.

oo ferft T w2 i v % o e
9o @ amfes g9 R e &, =
fofr 9 a9 B wew ¥ fau
st e Em & 2

(a) T WeRTIl
(b) T Wy
(c) Hrem W
(d) e W

fefrfim & & 9 @ = ofmen
eafy woil g vl i = v
-

(a) 9THH

(b) sro=E

(c) safoeam

(d) gam

FEE FoeEE (Y wEemTh) #
Fife fogra &

(a) =TT

(by ferara=

() Tosrma

(d) areTafier

w5 feafefiaa & & feg oew &1, 991
a7 AR & Hord fameeR
B § 7

() Temm== wew

(b) STEOTEA Wad

(c) AT

(d) TETER

GHY-F-BST - A

12.

T3,

74,

75.

i L A B
e aasRw e ?

(a) T

(b) TSl

(c) firmrg

(d) =3
frefafim § % 9 a1 sy sfiream
WG T B R T Y
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68. When a beam of white light is allowed

6o,

70.

71.

o fall on a prism, the maximum
deviation of the emerging light occurs
fior

(1) red light

{b) wiclet light

{c) wellow light

{(d) blue light

Which one of the following pheno-
mena CANNOT be exhibited by sound
waves 7

{a) Reflection
(h) Refraction
{c) Interfercnce
(d) Polarisation

The principle involved in
chromatography is

paper

{s) Absorption

(b) Partition

(c) Solubility

(d) Volatility

Which one of the following states of

India has the largest arca under dense
evergreen forest cover 7

{a) Himachal Pradesh
{b) Arunachal Pradesh
(¢} Karnataka
(d) Uttarakhand

15

72. Which one of the following is the

biggest 1sland of Japan archipelago ?
{a) Honshu

(b) Hokkaido

(c) Shikoku

(d) Kyushu

. Which one of the following latitudes

passes  through maximum Indian

states 7

(s) 20° N latitude
(b) 22° N latitude
(c) 24° N latimde
(d) 26° N latitude

74, Which onc of the following is the

comect order of Himalayan ranges
from North to South ?

{a) Karakoram, Ladakh, Zaskar, Pir
Panjal, Siwalik

(b) Ladakh, Zaskar, Pir Pamjal, Kara-
koram, Siwalik

(c) Pir Panjal, Zaskar, Karakoram,
Ladakh, Siwalik

{d) Siwalik, Zaskar,
Ladakh, Karakoram

Pir Pamjal,

75, Sonoran is a

(a) desert arca of North America

{b) seasonal wind of France

(¢) cash crop of Mediterranean regicm
{d) tribe in South Afnca
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76. Which one of the following is the

gorrect sequence of the positions in the
Bay of Bengal from North to South ¥

T0. If M is brother of N, B is brother of

and M is brother of ), then which one
of the following statements is definmtely

trag 7
(a) Gulf of Mannar — Palk Strait —

Palk Bay (a) N is brother of B
(b) Palk Strait — Gulf of Marinar — (b} N is brother of M
RS By (c) N is brother of D
{¢) Palk Strait - Palk H..a}' — Gull of (d) M is brother of B

80, If in a certain language GAMBLE is

(d) Palk Bay — Palk Strait — Gulf of :
coded as FBLCKF, how is FLOWER

Mannar

coded in that language ?
77. Which one {Ifﬂ:l:ﬂ following is ‘:‘hr: main (a) GMPYDS
e e TSk e
(a) Combat desertification {c) EMNXDS
(d) EMNTDS

(k) Formulate sustainable develop-

mental goals T
81. In this item, four words have been

given, out of which three are alike in
some manner amd the fourth one 18
different. Choose the odd one out.

(c) Protection of ozone layer

(d) Combat climate change

. ; {a) Friendship
8. There are five friends — Sachin, Kunal,
Mohit, Amit and Sohan. Sachin is (b) Intimacy
shorter than Kunal but taller than -
Sohan, Mohit is the tallest. Amit is (c) Attachment
little shorier than Kunal and little tallar {-ﬂ] E-E]]'Iiij'

than Sachin. If they stand in the order

3 & = h H
of increasing heights, who will be the 82. One-sixth of a number is 53. What will

¢ be 57% of that number 7
G4l Pt (a) 13674
(b} Sohan (B) 140-46
(¢} Sachin (c) 181-26
(@) Kunal ) 197-16
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&3, If the numerator of a fraction 13

increased by 200% and the deno-
minator 15 increased by 300%, the

resultant fraction is -]3; What was the
original fraction 7

@ B
B
() &

@ 2

. Which one among the following is

NOT the central feature of Polyarchy 7

{a) Govemmment is in the hands of
elected officials

(b) Right to run for office is restricted

(¢} Practically all adults hawe the
right to vote

{d) There is free expression and a
right to eriticize and protest

Which one of the following does NOT
fall under the definition of the Money
Bill ?

{a) Amendment of law with respect to
any financial obligations under-
taken by the Government of India

{b) The payment of money into the
Consolidated Fund of India

{c) Any financial bill as per require-
ments of Article 117

{(d} Appropriation of money out of the
Consolidated Fund ol Tndia

86. “To cherish and follow the noble ideas

which inspired our national strupggle
for freedom™ is a provision of which
one of the following of the Constitu-
tion of India 7

(a) Darective principles of the state

policy

(b} Fundamental duties

{c) Fundamental rights

(d) Preamble

87. Which one of the following authorities

CANNOT organize 'Lok Adalats® ?

{a) Panchayat Commitiees

(b) Taluk Lepal Services Commilles

{c) District Authority

{d) High Court Legal Services Com-
mittee

B8. Which of the following staterment(s)

isfare correct in respect of the
‘ecoradicals” 7
1. They believe that buman societies

on earth are moving dangerously
closer to the limits of the earth’s

carrying capacity
2. They call for strict population
control

3. They stress for less consumption-
oriented and waste-producing way
" of Tife

Select the correct smswer using the
code given below :

{a} 1 only

(b} 2 only

(c) 1,2 and 3
{d) 2 and 3 only

A — GHY-F-BST




89, WA T & =i 0 feafafag § A 2. Fr=faflm 6w 5 sshs

Hi T qe R 7 wA # wrafer fifim (amw & ¥ w0
1. s s fig s § gum S 7) ;
Ll -

2. W WERE i e = 1. ¥re wfém e

3. o famEm vhwEEr W o 2. A i g

4. ﬁgiﬁmﬁa@mﬁa R T ——

1
# 8y T w w v W wd e 4, =t At gEEmE
; Gl | w WA R T

(a) Haw | dkR2 ﬁﬁfﬁﬁ e

(b) &EH 2 &3

(€) 1,283 (a) 1,2,3,4

(d) 134 ) 1,3,2,4

90, amifier Tt 3 1892 & wrERE (¢) 2.3,4,1

e (st = fade =i e o v (M 3,2,1,4

(=) g1 Frm ofiws & gemt i e
=7 5 A 93, wEnER (Arguraee) &t fimm ke

(b) AT TiEET & HeEl 6 HE w4yl i wfirg ot 7
& ot : et

(c) ufimst it mifes w=e w99 54 () R TV SR o 0y
o Aftrer & fom @ (b) T THATE T TR 8

(d) TH TR § WEEME WM 9 (c) ¥ T Wl A o
wicftal &) fadem = fen = _

. () T T oy wEen & fuems
91. AR FEdT Wy 1 sfeww # i Rises e i

W] A g7 _

(a) 1857 & T & Twm =R o4, e Paesver s (HDD) S
fafestt (3 % famrs feames Fqow, o R ONE e
W A e . fgrer Frefrfian % % = 2 7

(b) & et wed & s .

() 1870 & =wd ¥ I=F A= & (a) FAEAs, w4, Ao, fEEmTe
Its 2% S S (v) 7, Ragredts, s, arts

(d) A s it wiE ¥ 1w S (c) id, wregfermn, sy, e
gitadEml " g (d) Toeodm, smodie, @i, wiefa
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89, Which of the following statements

aboul Prarthana Samaj are correct ?
1. N5 aim was to teform the Hindu
society :
2. It was based in Maharashtra
3. It believed in monotheism
4, It had greatly nfluenced the
Brahmo Samaj
Sclect the correct answer using the
code given below ;
(a) 1 and 2 only
(b) 2 and 3 only
{c) 1,2 and 3
(d) 1 and 4

o). Why did the carlvy nationalists oppose

91.

the Conncil Act of 18927

{a) The number of members of the
Impenal Legislative Council was
increased

The number of members of
Provincial Councils was increased
The Councils were given the right
o discuss the anmual budgets

The Act did not give the Indians
control over the public fumds

(k)
i)

(d)

Why was Vasudeo Balwant Phadke

knowm in history 7

{a} He led a viclent struggle against
the British during the revolt of
1857

He was a crtic of Gandhign
struggle

(b)
{¢) Te led an armed uprising against
the British in the 1'371}3_
He was a radical leader of the
Indian National Congress

(d)

3

92, Arrange

u3.

the establishment of the
following in a chronological order
{starting with the earliest) :

1. The East India Association

2. The Poona Sarvajamk Sabha
i. The Madras Mahajan Sabha
4

. The Bombay Presidency Associa-
tion

Select the comect answer using the
code given below |

(a) 1,2, 3,4

() 1,3.2,4

(c) 2,3, 4,1

(d) 3,2, 1,4

Why was the Sittar poetry of Tayauma-
navar famous 7

(a) The writings were nationalist
compositions

(b)
(c)

The writings were romantic Epi_l:s

The writings
SONES

were  dovotional

(d)

The wrilings were prolests against
the castc system

94, Which one of the following is the

correct armangement of the countries in
descending order according to Human
Development Index (HDI) value ?

{a) Ireland, Morway, Australia,
Switrerland

(b) Worway, Switzerland, Australia,
[reland

{c) Norway, Australia, Ircland,
Switzerland

(d) Switzerland, TIreland, MNorway,

Ausiralia
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95.

FOTHfEET ToEet 59 A & A A

et da s it s & 7

(a) FrrgiiEs T 3w =

(b) EEr-wafirard & gemE: wfim ok
wfipr-gd  ofim & sy
e =9l 39 2 S 9 w1

(¢) udt aftar o o=t aigfn

(dy Fudt afiE g sfgw-ofsesdh
R

. ETEEH

1. YAEEEE W Aee

2. 9T A1g A wEh vEe

3, TEHT AT

4, wafenfy ok e (aferm) SFi
# ufadafa

4 for T FE W WA 9w A I

e

(a) 1,29k 4

" b) TEE 2 ER 3

o7.

(c) 143

{d) 2,3 9% 4

Tt wiftrm wfen g =@ (amfossa)
Wt R % BEE 9 e Hau @,
form = 3 A S 2

(a) =mep Tiftem

(b) W Y@

(c) =TETET

(dy feamm

GHY-F-BST - A
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98.

90,

Frafefas & & s m, v wee-
! HETTE e wE R 7

(a) T fEg

(b) = =% st fim #ts (smw <)
(c) AT T

(d) FaTar e

INSPIRE 1 WA 6T i U W)

oee ®, Rl ¥ 7

(a) Tommm ok sgwee w1 wfn =
AR = & e

(h) wiimm (deams) & aemm o
T wafy & fro

(c) Tafim s&T i & i
FAHGT H TG o & forg

(d) #gEE & Iugen () S F
UEEIg ATt 1 A

el P i g 1s0wH B AT
el 90 WHI & 40% o 98 J 69 TR
famr 2 1 2l Aigdf vl # 9@ 60% W=
WH &= & a1 99 60 wel & R
wfawa = 9 I0 Sin-2i% o B 7

(a) 75
(b} B0
(c) 85
(d) 90



95, Which one of the following docs NOT

fall in the areas of tropical deciduons

forest biomes 7

{a) The Ncotropics mainly West
Indies

() Indo-Malaysian zone mainly In
south and south-cast Asia except

equatorial  evergreen  rainforest
areas

{¢) Eastern Africa
Australia

(d) North America mainly South-west
America

and morthem

06, Doldram are

|. equatorial calms
2. calm and light winds
3. oanng forties

4. variable both in position and in
extent

Select the comrect answer using the
code given below :

(2) 1,2 and 4
(b} 2'and 3 onky
{c) 1 and3

(d) 2,3 and 4

97. The pently sloping accumulation of

coarse alluvium deposits by a braided
stream 13 known as

(a) sand bar
{b) alluvial fan
(c) bajada

(d) diaras

33

98. Which one of the following is NOT a

palasoclimatic geological indicator ?
{2) Lacustrine deposits

(b) Ice sheets and ice cores

(c} Evaporite deposils

(d) Sedimentary deposits

99, INSPIRE is an ongoing initiative of

Government of India for

{a) artraction of talent for science and
research

(b) tesearch advancement through
MUFuring

{¢) promoting rescarch among vanous
S & T smakeholders

{(d) augmenting quality manpower in
niche areas of rescarch

100, In a test consisting of 150 questions,

Meha answered 40% of the first 90
questions correctly,. What per cent of
the 60 questions does she need to
answer comectly for her score in the
entire test to be 60% 7

{a) 75

(b) &0

{c) 85

{(d) 90
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101.

102,

103,

104.

U ¥R W 2700 B T 394 W TR
=ifeR T 10% 50 g gt € | =5 7

0 A H 3600 FH F =9, q IWH

wr e witm 2o 7
(a) 15
(b) 18
(c) 20
(d) 25

it BOYX, EFVLI, HISR, KLPO, ...
T AT UG T RN T

{s) NOML
(b) NOLM
(c) ONML
(d) ONLM

g e i, frd 2940 F 90 w=A
ot e g w w, ET

{a) 10
(b) 15
() 20
(d) 35
9 T AT A Rt v & s s
e = - e e o 1 e

AM 27 & W R | Ut S st e
Lo |l A e

{a) 235
(b) 249
(c) 213
(d) 180

GHY-F-BST - A
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105, TfE 5472 = 9, 6342 =6 #HT 7584 =6

106.

107.

R, "W 026 FME ?
(a) 2
(b) 3
(c) 4
(d) 5

B s % o ve & v H fgm
Tertr =t & forg el =afis g sraws
Iy Prefafm A agm di 8 2
|, SS9GH WA FT I e
#gan g6 =0 # s B o &
T, aiféa =rd =ofem
2. v =fs Bl Brefin ot sl
WHEE ¥ =E S wl
3, ww =t e s w0 Rifie
A R
A= oo ™ R W oW = el e
3
(a) 1,233
(b) FaEa 1 @ik 2
(c) =Hed 2 #T 3
(d) FHEw | #HT 3

Frafatae & & e witos 3 o 7m
fie Fr o T % TEmETE ¥
A L e e

(a) 9 AT

(b) THEA

{c) = FAET

(d) @ @ FoE



101. By selling an article for ¥ 2700, a man
loscs 10%. If he sells it for ¥ 3600, has
gain per cent is

(@) 15
(b} 18
{c) 20
(d) 25
102, The next term of the 5mi=3l BCYX,
EFVL, HISR, KLPO, ... 18
(z) NOML
{b) NOLM
{c) ONML
{d) ONLM
103. The least integer when mu.]liplive:-d by
2940 becomes a perfect square is
(ay 10
®) 15
{c) 20
(d) 35
104. When the digits of two-digit numbers
gre reversed, the number increases by

27, the sum of such two-digit numbers
is

(2) 235
(b) 249
() 213
(d) 180

105. If 5472=9, 6342=6 and 7584 =06,
then what 15 %236 7

{a) 2
(b) 3
c) 4
(d) 5
106, Which of the following are the
csscntial requirements for a person to

be appointed as a member of Finance
Commussion 7

1. A Supreme Courl judge or one
gualified to be appointed as such

2. A person having wide experience
in financial matters and adminis-
tration

3. A person having special know-
ledge of economics

Select the correct answer using the
code given below ;

(a) 1,2 and 3
(h) 1 and 2 only
(¢} 2 and 3 only
(d) 1 and 3 only
107. Which one of the following musicians

served al the courts of Raja Man Singh
Tomar and Bahadur Shah of Guojarat 7

{a) Baiju Bawra

(b) Tansen

{c) Lal Kalawant

(d) Rang Khan Kalawani
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108. g% S FFH-IA-7gE 1 AGH

= a1 ?

(2) 9FF TR A TS

(b) wrEE Fat

(c) @ Tramgde st

(d) sl gad

109, frfefam & & fef 1924 & w9
wrersfs weay A A S ok ot 7

(a) TIFET AEAE, AL U, B, o
e, A

(b) WEmE T K yitEa SeEt

{c) . 1. ak e &t owe

(d) AT FEATE AR TE, v, TR

110, F5AT HIT Ik weaaa] & fretafm
T F H HA A g i & 7

(a) “ArE fEoe
=

(b) WHEE-TH
FErm-u-fig

GHY-F-BST - A

o ey Ay, o
TH, 7. AIa7

: HIEH AFEA

o g 9 e
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(c) wiir Yl ; o, o, e
g1t

(d) = HefEe ;v L T
i
. Feafefm s & &% @, ofed
(Fiter) el 1 Wt e & 7
(a) & ofit 7=t o o9 & T

(b) T aR gEwel (Uex wgw) &
e & W & e

(¢) ot & fime & ww
(@) T & =r diR &
112, 35 1 & 0% g gl fifim

o gt % S o o gz
H'ﬂﬁmﬁ

List [ List 11
(-wmwfa) (®T=)
A #E . g Frafe

B. EiHatat 2. Tors Frafm

D. #rta (feim)
L -8
A B C D
m f w3 8
By & 3 & F
{c) 2 3 4 1
&2 4 3 1



108. The Sufi work Kashfful-Mahjub was

109,

110.

written by

{a) Abu’l Hasan al Hujwin

(b) Moinuddin Chishti

{¢) Shaikh Nizamuddin Auliyva

{d) Amir Khusrau

Who among the following were jailed
in the Kanpur Bolshevik conspiracy

case in 19247

(a) Muzaffar Ahmad, 5 A Dange,
Shaukat Usmani, Nalimi Gupta

(t) Muhammad

smani

Ali

and Shaukal

{c) S.A. Dange and 5. V. Ghate

(d) Muraffar Ahmad and 8. 5.

Mirajkar

Which one of the following pairs of
organization and their founders is NOT

correctly matched 7

{a) Mational
Liberation
Federation

(b) Jamiat-ul
Ulama-i Hind

: Tej Bahadur

Sapru amd

M. R Jayakar

¢ Maulana

M ahmudal
Haszan
Shaikh-ul-Hind

37

111.

112.

(c) Congress : B. G Tilak
Democratic
Party

{d) Congress : M. N. Roy
Socialist Party

Which one of the following represenis
the inner planets ?

{a) Planets between the sun and the

carth

Planets between the sun and the
belt of asteroids

(B)

{c) Planets near the earth

{d) Planets around the sun

Match List I with List I1 and select the
correct answer using the code given
below the Lists :
List 1
fLandform)
A.Locss

List I
(Ageni)
1. Wind deposited
B. Tombelo 2. Glacier deposited
C.Point bars 3. River deposited
4, Sea deposited

. Moraines

Conde :

e S

1o I A e
(IR L S S
s R A T
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13, = 1w g 0 S e gitw S o afet F 9 R w5 = o w el e
Hf ;

List 1 List I1
(73 (7rest = Feafr)
A, TR i\?
t?zH
B. a7 Al
w I/""
C. wd , w,f
[ o
D. Fwm @kﬂ\r’
_.l'“w \__J
Q@ ¢
1.: ;
He :
A B [ D
(@) 2 4 3 {
(B 1 3 4 2
(c) 2 3 4 1
() l 4 3 2

4. 7R 2[3)4=14 N 3 [4]6=60 B, A 115, frafafiss Ioft ot few $ifim .

4[5]17="7 1,9,17,33, 4%, 73, ...
@ 72 Fraferfem 9§ % wu e & wg=ifis .
{a) 99
B4
(b) s
(c) %o (c) 95
(d) 108 {d) 91
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113. Match List T with List I and select the correct answer using the code given below the

Lists ¢
Last T
(River)

A Penner
B. Vaigu
C. Cauvery

0. Erishna

Code -

()
e}

A
(2) 2
1
2
() I

AW W osm

114. 1f 2 [3] 4=14 and 3 [4] 6 =60, then
4[5]17=1

(a) 72
(b) 84
(c) 96

(d) 108

/ >
2 Jf'

List 11
{Location in map}

iy

[ PO S S P |
R R

115. Consider the following serics ;
1,9, 17,33, 49,73, ...

Identify the missing number from the
following

(2) 99
&) 97
{c) 95
(d) 91
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ne., Fefafar ol w fEw Fif . 18, 7groar it & womwE w oW #

Foafefgm % & =9 ®w/4 =09 8
B/R?
1. gfimr snf # TeEE & faers
FEA T F HEE % R
Tt 3 FEwAE WEEE W
Temm =
A1 & et weedt # & g9 Fe W ow 2. GO ¥ A TR WEEF ©
T Jmlaﬂtnm
(2) 12 3. weawet WU & whiw =W
(b) 16 w2 U s § A o ik
it &) wE qEuE
(% 4 4. WA H, AAWE F FGEIEHT TEE
umﬁmﬁﬁgﬁ_ﬁ ¥ @\ § wE 19H i A v 3 fE
A g
2. % ufy aua wmfiw gfgm il el
3. 9w # AR W e @) 1,2,33R4
e S wm s w9 fEn : % 3 i PR
N by Sy
_mp: ; S e |, OTEETES OIS AW 8 9EH
4, T TWATH W A W A AW & ity
e z.mﬁmmmm
4 fon W we W v W ow e TR e
= e # A =i /A e we R 7
(a) ¥ 132 (a) =4 1
(b) 1,2 #T3 (b) Faw 2
(c) a3 T 4 (c) 13R27EH
(d) 1,384 , (d) A1, A6 2
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116, Consider the following figure :

Find out the missing number from
amomg the following :

(a) 12
(b) 16
(c) 32
(d) 48

117. Which of the following statements

about the Arva Sama] which emergzed
in the late 19th century are correct ?

1. Had a very strong support basec
amongst the trading casles

2, Tntroduced ‘shuddhi’ or mass pur-
fication

3, The moderates in the Arya Samaj
were headed by Hans Raj and
Lajpat Rai and set up a chain of
Dayanand Anglo-Vedic colleges

4, The Arya Samaj had fewer
members than the Brahmo Samaj

Select the correct answer using the
code given below :

{a) 1 and 2 omly
(B) 1,2 and 3
{c) 3 and 4 only
(@) 1,3 and 4

41

118. Which among the following statoments

119.

about Mahsitma Gandhi’s Satyagraha
isfare cormect 7

1. It was during the course of his
campaign  sewinsl tacalism in
South Africa that Gandhiji first
applicd Satyagraha

The two wital ingredients of
Satyagraha are ‘truth’® and *non-
violence"

3, The Satyagrahi resists evil by
inflicting suffering on himself and
not by mihcting suffenng on the
opponent

4, In India, Satyagraha was first tried

- by Gandhiji in Champaran

Select the correct answer using the
code given below :
(a) 1 and 4 only

(b) 2 only
{c) 4 only
(dy 1,2 3 and 4

Consider the following statements
pertaining to the Satavahanas :

1. Satavahana rulers were identified
through metronymics

2. Satavahana succession to the
throne was generally patnlineal

Which of the statements gven above
isfare correct 7

{a} 1 only

(b} 2 only

{c) Both | and 2
(d) Meither | nor 2
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it Al R

121.

122.

e wfedt & A3 B o = vl
ﬂiﬁﬁfﬂ?ﬁﬁﬁﬂ:

List 1 List I
(Ferfersr (et #®
=t dmm) feuf)
A FrarE Jﬁ‘"ix

J
o

(a)
(b)
(c}
(d)

weult =9 @ TiifE 3 18 9 sEim =

i Frtafas 3 & <9 @ e

TR ?

() EHEHER U

(b) % WA T

{c) T UEANH

(d) s T

e s WY FAFA (NCAP) o8
2024 T W & WA 4 9 102 s H
i TEr (afdTgeE #ex) = 20%
H 30% TF T T H T TEA L |
TR T FEAT o o7 AT 9 R T

(ORI R -
= b3 o= b3
N R |
oW oW o B
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123,

124,

125.

(a) 2015
(b} 2016
(¢) 2017
(d) 2018
wrA A & Felefas # w5 &

wE s oae O & W 2010 B
#ar 7 (feemites) fomm w2

(a) INS T
(b) INS& TUysila
{c) INS T
(@) NS Frgeers

HIEE 1 1 A T W H AH-64E (1) -
. el e ww fem 2
7% e Fw ffE g & 7

{a) WA

(b) &8

(c) wid

(d) USA

SRETY W S HieT SR A
e oy PR S S ar v
(a) e

(b) wefrete

(c) UK

(d) R



120. Match List T with List IT and select the (a) 2015
correct answer using the code given

below the Lists - (b) 2016
List 1 List IT (c) 2017
(Border of {Locaiion
Nikkim) in map) {(d) 2018
A. Nepal B

123. Which one of the following frontline

destrover of Indian Navy was decom-
B. Bhutan @/ {J@ missioned m May 20197
| .
C. China ; 5}.’ (R “ENNE. T
}A\l_l"ﬁ rﬂﬂ—h{'}@ {b} ms E -it_
D West B 1
e (c) INS Rajput
Code (d) TNS Sindhurakshak
A B C 1]
{a) 3 - 124. The Indian Air Force has recently
' acquired the AH-64E (I) — Apache
b 4 1 2 3 Guardian helicopler. The helicopter is
@3 2 4 3 made in
( ¥ 1 24 {a) India
121. Which onc of the following is the SR) A
natme given by Indian Railways to the
indigenously manufactured Train 18 7 S5 R
{2) Humsafar Express (d) USa

(b} Vandec Bharat Express - -
125, Which one smong the following was

(¢} Ananya Express the first country to declare ‘Climate
{d) CGatimaan Express Emergency” ?
4 L (a) Sweden
122, The MNational Clean Aar Programme
{NCAP) aims to reduce particulate ' {b) New Zealand
matler (PM) in at least 102 cities of
India by 20% — 30% by 2024, The base {c) UK
vear for the comparison of concentra-
tion 1s {d) Ireland
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